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struct Student {
char namel[10];
int age;

struct Point {
int X;

1 M int grade;

double credit;
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void main(void)

{

intxl =1,yl = 2;
int x2 = 3, y2 = 4;
int X3, y3;

x3 = Sum(x1, y1, x2,y2); // H{=35H?

void main(void)

{
Point P1
Point P2
Point P3;

{,};
{3

P3 = Sum(P1, P2);

/] Wow!




» | struct Point { o1
int x;
inty; X 3
1 == ()
y | 4 3, O -

void main(void)

A= E O

-

{
Point P1; T A R R < [
P1.x = 3; //

Pl.y = 4,

cout << "(" << PT.x << ", "<<Plly << ")" << endl;
m}
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struct Point {
int x;
inty;
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Point Sum(Point Pol,

{
Point Po3;

v
Point Po2)

Po3.x = Pol.x + Po2.x;
Po3.y = Pol.y + Po2.y;

return Po3;

void Print(Point Po)
{

cout << "(" << Po.x <<
<< Poy << ")" << endl;

}

void main(void)

{
Point P1 ={1, 2}
Point P2 ={ 3,4}
Point P3;
P3 = Sum(P1, P2);

Print(P3);
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Point Avg(Point *Ary, int Count)

{

Point temp ={ 0, 0 };

= inte} 5
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for (inti = 0; i < Count;

temp.x += Arylil.x;
temp.y += Arylil.y;

+4) {
7

}

temp.x = temp.x / Count;
temp.y = temp.y / Count;
return temp;

void main(void)

{

b

Point Ary[5] ={{1,1} {2, 21},

{3,3}4{4,4}4L {5, 5}
Point Po = Avg(Ary, 5);
Print(Po);
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2 QA=
= Z} é O}F/}' void Move(Point *Po1, Point Po2)
{
TE2A EZJAE HEFERE pol->x = Pol->x + Po2.x:
HlH He 2 H Pol->y = Pol->y + Po2.y;
(*Po1).x } g C-._ (0 o
Pol->x (2.2 I
void main(void) H=ord 3 o= [
{ i
Pl
} PointP1 ={1,1} ) :
Pol — ) ’
\X 3 Point P2 = { 3,4}
Move(&P1, P2);
y | 4 Print(P1):
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= 71 gyvoid Move(Point &Po1, Point Po2)

{

Pol.x = Pol.x + Po2.x;
Pol.y = Pol.y + Po2.y;

}

void main(void)

{
PointP1 ={1,1}
Point P2 ={3, 4}
Move(P1, P2);
Print(P1);

_
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void main(void)

e

{ g C.. oo [ |
PointP1 ={1,2}; L8 2
Point P2 ={3, 4 }; A=5HAH 0L 5
Swap(P1, P2); « [iii] ,
cout << "P1 : %

Print(P1);
cout << "P2 : %
Print(P2);




void Swap(Point &Po1, Point &Po2)
{

Point temp;

temp.x = Pol.x;
temp.y = Pol.y;

Pol.x = Po2.x;
Pol.y = Po2.y;

Po2.x = temp.x;
Po2.y = temp.y;

void Swap(Point &Po1, Point &Po?2)
{

Point temp;

temp = Pol;
Pol = PoZ2;
Po2 = temp;

olr
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int X;
inty;

void Print() {

cout << "(" << x << )"
<<y << ") << endl;

}

void Move(CPoint Po) {
X = X + Po.x;
y =y + Po.y;

}

_
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struct Point {
int X;
inty;

5

void main(void)
{
Point P1;
Pl.x =100; // dodei= 27 &2

}

]
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class CPoint {
private :

int x;
inty;

public :
void SetX(int a) {
if(a<1]|la>10)

cout << "xaf F2!" << endl;

else
X = a;
}
};
void main(void)
{
CPoint P1;

P1.SetX(100);
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void main(void)

class CPoint {

private :
int x;
inty;
public :
void SetXY(int a, int b) {
X = a;
y = b;
}

void Print() {
cout << "(" << x << " "

{

CPoint Po[5];

Pol[i].Print();

for inti=0;i<5;i++)
Po[i].SetXY(i + 1,i + 1);

for inti=0;i<5;i++)

<<y << ") << endl;
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void main(void)
{
int Count;

CPoint *pPo;

cin >> Count;

%

pPo = new CPoint[Count];

OlE] = A A -y AR} AL
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CPoint *pTemp = pPo;
for (inti = 0; i < Count; i++) {
_ pTemp->SetXY(i + 1,

YA
—1- 1
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A=Zstedd OFF 7L 2

"~ pTemp++;
}

[ BN C#¥Windows¥s... E@Iﬂ [
Ut Ao =75 pTemp = pPo;
. 1> L for (inti =0;i < Count; i++) {
2. 23 .
. T pTemp->Print();
i pTemp++;

}

delete [] pPo;

i+ 1);
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void Swap(CPoint &Po1, CPoint &Po?2)

{
CPoint temp = Pol;

Pol = Po2;
Po2 = temp;
}

void main(void)

{

CPoint P1, P2;
P1.SetXY(1, 2);

P2.SetXY(3, 4): o =
3. 4> =
Swap(P1, P2); Netym o
P1.Print(): ' N
P2_Print(): —




{

void main(void)

CPoint P1, P2;

P1.SetXY(1, 2);
P2.SetXY(3, 4);

P1.Swap(P2);

P1.Print();
P2.Print();
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P1.Swap(P2);

void Swap(CPoint &Po) {

CPoint temp;

class CPoint { TR Uib —_ temp.x = x;
private : privateol] &< 715 temp.y = y:
int x; \
inty; X = Po.x; I Rt
y = Po.y;
public : > 970l A this 3E 2 E
void SetXY(int a, int b) { Po = temp: =
X = a4, }
¥ =b; }

}
void Print() {
cout << "(" << x <<

}

<<y << "' << endl;




